—FET| EE-& | /586t | [E&H-£7F | TOith ZDfh ZDith a5t
DEE | FEE=E FE | F-I5%E | (BEW | BERE | (TEW) =

FEH 4 2 1 7

4K Eﬁ@éﬁﬁ%
e SRR RS 1 1
AEt 4 3 1 8
FEm 3 3

55 Eﬁ@éﬁﬁ%
e SRR RS 3 3
AEt 6 6
FEH 2 3 5
65 Eﬁ@éﬁﬁ% 2 1 3
e SRR RS 4 4
AEt 6 5 1 12
FEH 4 2 6
78 Eﬁ@éﬁﬁ% 1 1
e ERE SRR RS 2 2
A&t 6 2 1 9
FEh 11 11

85 Eﬁ@éﬁﬁ%
e ERE SRR RS 4 1 5
A&t 15 1 16
FEh 4 1 5

9oF Eﬁ@éﬁﬁ%
e ERE SRR RS 2 1 3
A&t 6 1 1 8
FEm 6 1 7

108 Eﬁ@éﬁﬁ%
e ERE SRR RS 6 6
A&t 12 1 13
FEH 5 1 1 1 8

118 Eﬁ@éﬁﬁ%
e ERE SRR RS 2 2
A&t 7 1 1 1 10
FEH 3 1 1 5
128 Eﬁ@ﬁﬁﬁ% 1 1
e ERE SRR RS 2 2
A&t 5 1 2 8
FEH 3 3

= Eﬁ@éﬁﬁ%
e ERE SRR RS 4 1 1 6
A&t 7 1 1 9
FEH 1 1
25 Eﬁ@eﬁﬁ% 1 1 1 3
IEEMERRERE 1 1 2
A&t 2 2 1 1 6
FEH 4 4
35 Eﬁ@eﬁﬁ% 1 1
IEE MR ERE 4 1 5
A&t 8 1 1 10
FEH 50 4 7 2 2 65
e Eﬁ@eﬁﬁ% 2 3 3 1 9
e ERE SRR E RS 34 2 3 2 41
Y= 84 8 13 7 3 115
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